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‘culator to find the
equivalent. Round to
1l places where
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Copy and complete.
@ lof[ |=24cm
@ Lof[ ]=600g
@ tof[ ]=40p

€@ Lof[ ]=25litres

Give the value of the underlined
digit.

€ 1328
€ 2657 @ 7035
€ 0943 O 3519
@D 461 D 2867

@) 3-402

Write the answer only.

® o25x10

@ 1369 x 100
€ 0-014 x 1000

@ 5073 x10

@ o08x100

€D 231 x 1000
@ 97 10

@ 4-4+100
& 1060 + 1000
& 802+ 10
@ 750 = 100

@ 326 +~ 1000

Work out
@) 0.08 x 3
@ 012x9

@ 346 x5
@ 173xs8

@252 @128+4
@Donn-7 @279+6

Round to the nearest:
a) 1 decimal place
b) 2 decimal places

@ o0-846 @ 2453
@ 3378 @ 0527
@ 0692 @ 0-965
@ 1.045 @ 7.084

@ Copy and complete the

table.
Fraction | Decimal | Percentage
- 0-1 10%
5 :
4
2
5
0-61
0.9
3%
25%
Find
@ 20f£39
@ : of 400m|
@ % of 60 cm

@ 10% of 2.4kg
@ 1% of 5 litres

@ 30% of £1-80
€D 5% of £95.

Copy and complete.

© 38mm=[ |m
® 72cm = Jmm
© 245am= |m
© 007m=[_|m
© so0m=[ Jkm

0 38169km = _|m
© 20 miles = Jkm
© 20km =[] miles
© 5339=[ Jkg

@ 20=[ kg

@ 7-426kg = ]g
@ o6kg=[ g

® 85mi = Jiitres
@ 2070mi =] Jlitres
@ 1.918litres =[_|ml
D 0304 litres = |ml

Write the measurement shown
by each arrow as:

a) g b) kg.

@ 1?00 l 800

J_l_lllllllllllllllllllg

@ 100 1200 300 l

:||||1|||||J|]|19

(19 1 05 06 10-7

|||1[1|1|||||1[||kg

@ 3 l 41

||||||1|i|||1[l|kg

@ 3cm

8cm
Work out:

a) the area of the
rectangle

b) the perimeter.

@ Draw a rectangle with the
same area but:

a) a shorter perimeter
b) alonger perimeter

@ Draw a rectangle with the
same perimeter but:

a) asmaller area
b) a larger area.

@ Label the dimensions, area

and perimeter of all four
rectangles.

@ Find the area of each

shape. (All lengths are in
centimetres.)
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Find the volume of each
cuboid.

5cm

@ How many of cuboid X
would fit into cuboid Y?

@ One staple is made from
15 mm of wire. How many
staples can be made from
2-4m of wire?

@ Three 225 ml glasses are
filled from a jug holding
1.5 litres of drink. How
much is left in the jug
in litres?

@ Winston’s walk to school
is 1-26 km long. Crystal’s
journey is 592 m shorter.
How long is Crystal’s walk
to school in metres?

@ A small packet of flour
weighs 8509. A larger
packet weighs 90% more.
What is the weight of the
larger packet in kilograms?

@ A field is twice as long as it
is wide. It has a perimeter
of 540 m. What is its area?



